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1. (20 points) Prove that an overdumped solution of my"+ f-LY'+ ky = 0 can cross the time axis 
no more than once, regardless of the initial conditions. 
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2. (20 points) Find a particular solution of the following equation. 

y" + 4y1 + 4y = e-2
t + sin(2t). 
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3. (20 points) Find a particular solution of the following second order ODE. 

y"- 2y' + y = et. 
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4. (20 points) Find the general solution of the system for the given matrix. 

y'=Ay, 
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5. (20 points) Solve the initial value problem of linear systems for the given matrix. 
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